
https://www.leads4pass.com/2v0-33-22.html
2024 Latest leads4pass 2V0-33.22 PDF and VCE dumps Download

 

 

 

2V0-33.22Q&As

VMware Cloud Professional

Pass VMware 2V0-33.22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/2v0-33-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

2V0-33.22 VCE Dumps | 2V0-33.22 Practice Test | 2V0-33.22 Exam Questions                                1 / 5

https://www.leads4pass.com/2v0-33-22.html
https://www.leads4pass.com/2v0-33-22.html
https://www.leads4pass.com/2v0-33-22.html


https://www.leads4pass.com/2v0-33-22.html
2024 Latest leads4pass 2V0-33.22 PDF and VCE dumps Download

QUESTION 1

A cloud administrator is asked to evaluate a number of disaster recovery solutions for the business. The current on-
premises environment Is built around the latest version of VMware vSphere 7.0. 

The following requirements must be met: 

1. 

Follow an on-demand cloud consumption model 

2. 

Must be a managed offering 

3. 

Deliver a recovery point objective (RPO) of no more than 30 minutes 

4. 

Rapid power-on of recovered virtual machines/ assuming cloud capacity availability 

5. 

Must accommodate for single region failure 

Which solution would meet these requirements? 

A. VMware Cloud Disaster Recovery 

B. VMware Cloud on AWS Stretched Cluster 

C. VMware vSphere Replication 

D. VMware Site Recovery Manager 

Correct Answer: A 

VMware Cloud Disaster Recovery is a managed disaster recovery-as-a- service offering that is built on the latest version
of VMware vSphere 7.0. It provides an on- demand cloud consumption model, allowing administrators to rapidly power-
on recovered virtual machines in the cloud, assuming cloud capacity availability. Additionally, VMware Cloud Disaster
Recovery delivers a recovery point objective (RPO) of no more than 30 minutes, and can accommodate for single
region failure. 

Publishing Applications with VMware Horizon 7 https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/te
chpaper/vmware-horizon-7-application-publishing.pdf 

VMware Technical Support Guide https://www.vmware.com/pdf/techsupportguide.pdf 

Quick-Start Tutorial for VMware Dynamic Environment Manager ... https://techzone.vmware.com/resource/quick-start-
tutorial-vmware-dynamic-environment-manager 

VMware Cloud Disaster Recovery ----------------------------------------------------- * Protect your workloads running on VMware
Cloud on AWS SDDC using high-frequency snapshots to achieve RPOs as low as 30 minutes. * Availability Zone
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Failure Handling https://docs.vmware.com/en/VMware-Cloud-Disaster-Recovery/services/vmware- cloud-disaster-
recovery/GUID-067EE6DF-80CC-44D2-94E6-D7183A239D9A.html https://docs.vmware.com/en/VMware-Cloud-
Disaster-Recovery/services/rn/vmware-cloud-disaster-recovery-release-notes/index.html 

 

QUESTION 2

Which statement accurately describes vSphere distributed switches? (Select one option) 

A. A distributed switch is a virtual switch that is configured for a single ESXi host. 

B. A standard switch is different from a distributed switch in that standard switches contain VMkernel ports. 

C. Each ESXi host can have only one distributed switch configured at any time. 

D. A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch. 

Correct Answer: D 

A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch. A standard
switch is different from a distributed switch in that standard switches contain VMkernel ports, but the entire configuration
is managed by each ESXi host. A distributed switch is managed by vCenter Server for all ESXi hosts associated with
the distributed switch and can contain multiple VMkernel ports. Each ESXi host can have multiple distributed switches
configured at any time. 

 

QUESTION 3

A cloud administrator is planning to migrate 1,000 VMs from their existing on-premises location into VMware Cloud on
AWS. The migration will need to be completed as quickly as possible. Upon completion, the users will need the most
reliable, lowest latency connection possible. 

Which on-premises data center connectivity option will meet these requirements? 

A. Layer 2 VPN 

B. AWS Direct Connect 

C. VMware Transit Connect 

D. IPsec VPN 

Correct Answer: B 

The best option to meet the requirements of quickly migrating 1,000 VMs with the lowest latency and most reliable
connection possible is to use AWS Direct Connect. AWS Direct Connect provides a dedicated network connection
between an on- premises data center and the Amazon Web Services (AWS) cloud, allowing for the transfer of data
across the two locations. It is more reliable and has lower latency than other options such as Layer 2 VPN, VMware
Transit Connect, and IPsec VPN. Additionally, AWS Direct Connect provides the highest performance and throughput of
any of the on-premises data center connectivity options. Why does VMware refuse to educate their customers ... -
VMware ... https://communities.vmware.com/t5/VMware-Education-Services/Why-does-VMware-refuse-to-educate-their-
customers/td-p/2005973 

VMware Technical Support Guide https://www.vmware.com/pdf/techsupportguide.pdf 
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Publishing Applications with VMware Horizon 7 https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/te
chpaper/vmware-horizon-7-application-publishing.pdf 

 

QUESTION 4

Refer to the exhibit. 

A cloud administrator is investigating a reported performance issue on a virtual machine (VM). The administrator
observes low latency on the datastore but high latency within the VM. The administrator notes that it is a standard
operating procedure to take a snapshot of the VM whenever there is an application or operating system upgrade on this
VM. 

Based on the exhibit, which snapshot characteristic will result in performance degradation? 

A. Snapshot chain length 

B. Snapshot size 

C. Snapshot type 

D. Snapshot age 

Correct Answer: A 

https://www.nakivo.com/blog/vmware-snapshots-vsphere-how-to/#title-12 

Follow these recommendations to get the best performance when using snapshots: 

1. 

Use snapshots as a temporary measure only.The presence of snapshots can have a significant impact on guest
application performance, especially in a VMFS environment, for I/O intensive workloads. 

2. 

The guest applications fully recover performance after snapshots are deleted. 

3. 

Keep the snapshot chain length short when possible, to minimize the guest application performance
impact.Performance degradation is higher as the snapshot chain length increases. 

4. 
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If you need to increase the size of a virtual disk that has snapshots associated with it, you must delete the snapshots
first before you can increase the virtual disk\\'s size. 

 

QUESTION 5

A customer needs to set up a self-managed VDI solution that can be deployed to any VMware Cloud. Which two
VMware solutions can meet this requirement? (Choose two.) 

A. VMware Dynamic Environment Manager (DEM) 

B. VMware ThinApp 

C. VMware Workspace ONE Unified Endpoint Management (UEM) 

D. VMware Horizon 

E. VMware Workspace ONE Access 

Correct Answer: DE 

The two VMware solutions that can meet the customer\\'s requirement for a self-managed VDI solution are D. VMware
Horizon and E. VMware Workspace ONE Access. VMware Horizon is a virtual desktop and application virtualization 

platform that enables customers to set up and deploy a virtual desktop infrastructure in any cloud environment. VMware
Workspace ONE Access provides secure access to applications, data, and devices in any cloud environment. 
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